IB Math SL Chapter 3 - Probability

. Section 3.1
( Questions:
1. Which is more likely, rolling a “six” on four throws of one dice, or rolling a “double six”
on 24 throws with two dice?
Which option do you think is more likely? Why?

2. If you were the first person to write a book on probability, what would it contain?
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What are the three ways that you can write a probability?
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1. Theoretical Probability
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- If the probability of an event is P, how many times would you expect an event to
occur in 7 trials?

Ne P fimes (nwlﬁp% n-p)

Example: A fair 12 sided die has faces numbered 1-12. Event 4 is defined as “the
number rolled is a multiple of 3”.

How many possible outcomes are there? How many of the outcomes are multiples of 3?

Determine the P(4).

N(W=12 nNiA=¢ P(AY= NA _ 4

Ny ~ (2

If the die were rolled 50 times, how many multiples of three would you expect?
N - PIA = 5p - T = 1 /3 hmes 2 (1 tmes
Experimental Probability (also known as € M\ VOI‘ Clta ( )

- What or why is experimental probability used?

uouhen Ou‘k“ww\es cre not- QC,‘U@“U [ e (e,
- Given a fair coin what is the probability of tossing a head in one trli‘I‘? Ten tria1§?lSO
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- As the number of trials increases what happens to the relative frequency?
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- Ifacoinis tossed 510 times, how many heads will we estimate to get if we use our
relative frequency?
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Subjective Probability
- What is subjective probability? S Can {— al Wt e_}"(‘ av
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- Give an example where you wo 1d use subjective probability?
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Section 3.2
Venn Diagrams

There are 30 students in the IB Math SL classes. 9 of them have Mr. Kaiser. Show this

information in a Venn Diagram
T Set A is students who have Mr. Kaiser.

552

n(4)=9
The rectangle represent the 30 students.
n(U)=30
If an IB Math SL student is chosen at random. The probability they have Mr. Kaiser, P (A) = _9( - E
30 /9

Complementary event A'

- A' (read A prime) is the complement of set A
- The complement represents the number of times the event does not occur.

40 ;A = From the diagram we see that n(4')=n(U)—-n(4)
R 20 ~q = 2|
£ ey The probability that a student does not have Mr.
L 9 gy };1 Kaiser,
g 2 -7
l = 2=
PAD= 5 = L
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